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HE R E
THE4 | R6&UIIEESEEREED2 TH
THXSy « TfE - FER A B & & B # ] ) 7
sk = 1 31, 515, 402
EhdE T = 1 29, 794, 770
BT Z T Y 1 224,100 | Eli%ERRGIMT 1 =
TAT7 W MERZE IR t=15cm ;
ElEERR I (B 1) 20 m2
TAT7VMHEERR D A2t =40cm ;
kI 1 =K
TAT7 VAR
LSy 3 m3
TA77 Vb (HEHD 5
R IE 20 m2
MEMEL ;
g 20 m2
QO AHKRLET 277V MEA Y (20)  t=50mm ;
W 20 m2
QO AHKRLET 277V MEA Y (20)  t=50mm ;
eI 20 m2
O©FRLET A7 7V MRS Y (Fr20FH) ZLE#F A t=50m
m ;
LT Z T Y 1 224,100 | Ei%ERRGIMT 1 =
TAT7 W MEREE IR t=15cm ;
ElEERR I A (B T) 20 m2
TAT7VMHEERR D A2t =40cm ;
kI 1 =K
TATT VMY
LSy 3 m3
TA77 Vb (HEHD 5
R IE 20 m2
MEMEL ;
g 20 m2
QO AHKRLET 277V MEA Y (20)  t=50mm ;
o [ e 20 m2
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QW EHRLBLET A7 7V MEA Y (20) t=50mm ;
eI 20 m2
O©FRIEET AT 7V MES ) GFT20FH) 2E A4 A t=50m
0

BIEIA-n" -V T = 1 9,739, 136 | BIHEIA-N -V 2, 560 m2
Tembh B (®FRLET 277V MEA ) (BT20FH) &
B t=50mm) ;

s (5 T BT 1 =
TAT7 VAR

LSy 128 m3
TA77v Mk (BHED)

BIEIA-n" -V T = 1 14, 725, 478 | YJHIA-1" =14 3, 870 m2
TemPL T (@RI ETAT7VNEA Y CHT20FH) &
B t=50mm) ;

s (5 T BT 1 =
TATT VNG

LSy 194 m3
TA77v Mk (BHED)

TA7 7 MR B T Y 1 1,952,930 |/7y/ ML 100 m
INEAC H M ASF (ERBRAE)

779715 1k y=} 1, 460 m
B IARKS W=50cm ;

TA77 VMl 2E A E T = 1 2,929,026 | /7y /LBR 100 m
INEAC H M ASF (ERBRAE)

179785 1k y—h 2,212 m
B IAFRS W=50cm ;

X iR T = 1 850, 632

X T = 1 340, 050 | ¥A Rl =X R 370 m
WA TFE) B 15em JE1. Smm HEKPEAH L4

NP SRR 730 m
A A KPER 2 15em NEL

-2 - ESR o3 E < o] 3 ok S




PR NERE

CENBREF 2 7 AR R 1S 41 O X
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TEHEXSy - TfE - fER Bz ¥ & & Hm
X R T = 510, 582 | ¥Amh =X R 550 m
A TFE) A 15em JE1. Smm HEKPEAH L4
A AV PR E R 1,110 m
A A KR SERR 15em NEA ;
FGan Y 870, 000
AEEB T Y 326, 250 | AZ ARG B 1 =
RiBTFHEE A 1 2V
AEEB T Y 543,750 | A IEFEEEH B 1 =
AR H S B 1 #
RS Y 31, 515, 402
Il R = 6,239, 175
Il R = 731, 175
TR Y 284, 000 | FEFEASMERE 1 E
Bl B2 By 63,175 |JERIAT —IERE 1 EN
Bl RIEUER (FE L) Y 384, 000
Il (it L) Y 5, 508, 000
il T = 37, 754, 577
Bl H e Y 14, 577, 000
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i@ Aokt 5w m




CENBREF 2 7 AR R 1S 41 O X

P oxin =
BAENRE
THE4 | R6&REJIEEHREEREED 2 TH
THEXS - T - FER - va ¥ = & i 1l M 3
T =AM Y 1 185, 700, 000
— 4 —

i@ Aokt 5w m




(RO EEFHFTEN

Vaviarel =1
B NERE
THE4 | R6&UIIEESEEREED2 TH
LHFXSy - LfE - fljl A B & & B # a1l ) 7
1B BAEHRE = 1 4,995, 619
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BT Z T Y 1 212, 428 | EliEERRGIT 1 =
TAT7 W MERZE IR t=15cm ;
ElEERR I (B 1) 20 m2
TAT7VMHEERR D A2t =40cm ;
kI 1 =
TAT7 VAR
LSy 3 m3
TA77 Vb (HEHD 5
R IE 20 m2
fHEMEL
g 20 m2
QO AHKRLET 277V MEA Y (20) t=50mm ;
W 20 m2
QO AHKRLET 277V MEA Y (20) t=50mm ;
eI 20 m2
O©FRLET A7 7V MRS Y (Fr20FH) ZLE#F A t=50m
m ;
BIEIA-n" -V T = 1 3,799, 347 | BIHEIA-N -V 1,020 m2
Tembh F (®FRLET 277V MEA ) (BT20FH) S
B t=50mm) ;
s (5 T BT 1 =
TAT7V AR
LSy 51 m3
TA77v Mk (EHED
TA7 7 MR B T Y 1 704,330 | /7y LERL 100 m
INEAC H M ASF (ERBRAE)
779715 1k y=} 580 m
b IAFERS W=50cm ;
X T 2V 1 99, 354
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RiBTFHEE A 1 2V
RS 2V 1 4,995, 619
s EeE = 1 1, 459, 000
s fEeE = 1 229, 000
TR 2V 1 142,000 | 5 BEARE iR 2y 1 2V
Bl RIEUER (FE L) Y 1 87, 000
Il (it L) Y 1 1, 230, 000
il T Y 1 6, 454, 619
Bl 2V 1 3, 319, 000
T =5 Y 1 9,773,619
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EhdE T = 1 7, 206, 245
BT Z T Y 1 192, 045 | &%k IR BT 1 =
TAT7 W MERZE IR t=15cm ;
ElEERR I (B 1) 20 m2
TAT7VMHEERR D A2t =40cm ;
kI 1 =
TAT7 VAR
LSy 3 m3
TA77 Vb (HEHD 5
R IE 20 m2
fHEMEL
g 20 m2
QO AHKRLET 277V MEA Y (20) t=50mm ;
W 20 m2
QO AHKRLET 277V MEA Y (20) t=50mm ;
eI 20 m2
O©FRLET A7 7V MRS Y (Fr20FH) ZLE#F A t=50m
m ;
BIEIA-n" -V T = 1 5, 864, 490 | BIHIA-N" -V A 1, 700 m2
Tembh F (®FRLET 277V MEA ) (BT20FH) S
B t=50mm) ;
s (5 T BT 1 =
TAT7V AR
LSy 85 m3
TA77v Mk (EHED
TA7 7 MR B T Y 1 1,149,710 | /7y /LR 100 m
INEAC H M ASF (ERBRAE)
779715 1k y=} 970 m
b IAFERS W=50cm ;
X T 2V 1 96, 014
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AEEB T Y 1 145, 000 | A3 58 fE B 1 =
RiBTFHEE A 1 2V
RS 2V 1 7,447, 259
s EeE = 1 1, 999, 000
B 2 = 1 261, 000
TR 2V 1 142,000 | a5 HEAR E iR 2y 1 2V
Bl RIEUER (FE L) Y 1 119, 000
Il (it L) Y 1 1, 738, 000
il T Y 1 9, 446, 259
Bl 2V 1 4, 582, 000
T =5 Y 1 14, 028, 259
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ElEERR I (B 1) 20 m2
TAT7VMHEERR D A2t =40cm ;
kI 1 =K
TATT VNG
LSy 3 m3
TA77 Vb (HEHD 5
R IE 20 m2
MEMEL ;
g 20 m2
QO AHKRLET 277V MEA Y (20)  t=50mm ;
W 20 m2
QO AHKRLET 277V MEA Y (20)  t=50mm ;
eI 20 m2
O©FRLET A7 7V MRS Y (Fr20FH) ZLE#F A t=50m
m ;
BHEIA-N =4 T Y 1 2,264,910 | GIHIA-n" -1/ 595 m2
Tembh B (®FRLEET 277V MEA ) GBT20FH) S
B t=50mm) ;
s (5 T BT 1 =K
TAT7V AR
LSy 30 m3
TA77v Mk (EHED
TA7 7 MR B T Y 1 499, 170 |77y LH 100 m
INEAC H M ASF (ERBRAE)
779715 1k y=} 340 m
b IAFERS W=50cm ;
X T 2V 1 56, 994
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TR Y 142,000 | 5 BEARE iR 2y 1 2V
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sk = 1 9,931, 035
EhdE T = 1 9,477, 372
BT Z T Y 1 219, 225 | EliEERRGIHT 1 =
TAT7 W MERZE IR t=15cm ;
ElEERR I (B 1) 20 m2
TAT7VMHEERR D A2t =40cm ;
kI 1 =K
TATT VNG
LSy 3 m3
TA77 Vb (HEHD 5
R IE 20 m2
MEMEL ;
g 20 m2
QO AHKRLET 277V MEA Y (20)  t=50mm ;
W 20 m2
QO AHKRLET 277V MEA Y (20)  t=50mm ;
eI 20 m2
O©FRLET A7 7V MRS Y (Fr20FH) ZLE#F A t=50m
m ;
LT Z T Y 1 219, 225 | EliEERRGIET 1 =
TAT7 W MEREE IR t=15cm ;
ElEERR I A (B T) 20 m2
TAT7VMHEERR D A2t =40cm ;
kI 1 =K
TAT7 VAR
LSy 3 m3
TA77 Vb (HEHD 5
R IE 20 m2
MEMEL ;
g 20 m2
QO AHKRLET 277V MEA Y (20)  t=50mm ;
o [ e 20 m2
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eI 20 m2
O©FRIEET AT 7V MES ) GFT20FH) 2E A4 A t=50m
0

BIEIA-n" -V T = 1 5,874,804 | BIHIA-N" -V 1, 560 m2
Tembh B (®FRLET 277V MEA ) (BT20FH) &
B t=50mm) ;

s (5 T BT 1 =
TATT VNG

LSy 78 m3
TA77v Mk (BHED)

BIHEIA-N =14 T Y 1 1,581,678 |HIHEIA-N =1 420 m2
Tembh B (®FRLET 277V MEA ) (BT20FH) S
B t=50mm) ;

s (5 T BT 1 =K
TAT7 VAR

LSy 21 m3
TA77v Mk (BHED)

TA7 7 MR B T Y 1 1,213,070 |/7y/MLEg 100 m
INEAC H M ASF (ERBRAE)

779715 1k y=} 890 m
B IARKS W=50cm ;

TA7 7 MR B T Y 1 369, 370 | /7y HLERL 100 m
INEAC H M ASF (ERBRAE)

779715 1k y=} 240 m
B IAFRS W=50cm ;

X iR T = 1 180, 1563

X R T = 1 130, 905 | ¥ pah = X T % 75 m
WA TFE) B 15em JE1. Smm HEKPEAH L4

NP SRR 450 m
A A KPER 2 15em NEL
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RiBTFHEE A 1 2V
AEEB T Y 56, 010 |Z2iEFEEE(H B 1 =
RiBTFHEE A 1 2V
RS Y 9,931, 035
Il R = 2,641, 000
s fEeE = 436, 000
TR Y 284, 000 | FEFEASMERE 1 2V
Bl RIEUER (FE L) Y 152, 000
Il (it L) Y 2, 205, 000
il T = 12,572, 035
Bl Y 5, 853, 000
T =5 = 18, 425, 035
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1B BAEHRE = 1 3, 080, 908
EhdE T = 1 2,906, 300
BT Z T Y 1 220, 008 | Eli%ERRGIHF 1 =
TAT7 W MERZE IR t=15cm ;
ElEERR I (B 1) 20 m2
TAT7VMHEERR D A2t =40cm ;
kI 1 =K
TATT VNG
LSy 3 m3
TA77 Vb (HEHD 5
R IE 20 m2
MEMEL ;
g 20 m2
QO AHKRLET 277V MEA Y (20)  t=50mm ;
W 20 m2
QO AHKRLET 277V MEA Y (20)  t=50mm ;
eI 20 m2
O©FRLET A7 7V MRS Y (Fr20FH) ZLE#F A t=50m
m ;
BHEIA-N =4 T Y 1 2,197,506 | G414 581 m2
Tembh B (®FRLEET 277V MEA ) GBT20FH) S
B t=50mm) ;
s (5 T BT 1 =K
TAT7V AR
LSy 29 m3
TA77v Mk (EHED
TA7 7 MR B T Y 1 488, 786 | /7y HLER 100 m
INEAC H M ASF (ERBRAE)
779715 1k y=} 332 m
b IAFERS W=50cm ;
X T 2V 1 65, 858
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X T = 1 65, 858 | A" A/ b3 i 170 m
A A KR SERR 15em HE
N AR TR 170 m
A A KR SERR 15em NZEA
FGan Y 1 108, 750
AEEB T Y 1 108, 750 | A5 E A E 5 1 =
RiBTFHEE A 1 2V
RS 2V 1 3, 080, 908
s EeE = 1 955, 000
B 2 = 1 201, 000
TR 2V 1 142,000 | a5 HEAR E iR 2y 1 2V
Bl RIEUER (FE L) Y 1 59, 000
Il (it L) Y 1 754, 000
il T Y 1 4,035, 908
Bl 2V 1 2, 065, 000
T =5 Y 1 6, 100, 908
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EhdE T = 1 5,417, 952
BT Z T Y 1 192, 618 | &%k IR BT 1 =
TAT7 W MERZE IR t=15cm ;
ElEERR I (B 1) 20 m2
TAT7VMHEERR D A2t =40cm ;
kI 1 =
TAT7 VAR
LSy 3 m3
TA77 Vb (HEHD 5
R IE 20 m2
fHEMEL
g 20 m2
QO AHKRLET 277V MEA Y (20) t=50mm ;
W 20 m2
QO AHKRLET 277V MEA Y (20) t=50mm ;
eI 20 m2
O©FRLET A7 7V MRS Y (Fr20FH) ZLE#F A t=50m
m ;
BIEIA-n" -V T = 1 4,361,124 | BIEIA-N -V 1, 260 m2
Tembh F (®FRLET 277V MEA ) (BT20FH) S
B t=50mm) ;
s (5 T BT 1 =
TAT7V AR
LSy 63 m3
TA77v Mk (EHED
TA7 7 MR B T Y 1 864, 210 | /7y LEL 100 m
INEAC H M ASF (ERBRAE)
779715 1k y=} 720 m
b IAFERS W=50cm ;
X T 2V 1 89, 400
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RiBTFHEE A 1 2V
RS Y 5, 582, 032
s EeE = 1, 595, 000
s fEeE = 236, 000
TR Y 142,000 | a5 HEAR E iR 2y 1 2V
Bl RIEUER (FE L) Y 94, 000
Il (it L) Y 1, 359, 000
il T = 7,177,032
Bl Y 3, 648, 000
T =5 = 10, 825, 032
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BT Z T Y 1 224,100 | Eli%ERRGIMT 1 =
TAT7 W MERZE IR t=15cm ;
ElEERR I (B 1) 20 m2
TAT7VMHEERR D A2t =40cm ;
kI 1 =K
TATT VNG
LSy 3 m3
TA77 Vb (HEHD 5
R IE 20 m2
MEMEL ;
g 20 m2
QO AHKRLET 277V MEA Y (20)  t=50mm ;
W 20 m2
QO AHKRLET 277V MEA Y (20)  t=50mm ;
eI 20 m2
O©FRLET A7 7V MRS Y (Fr20FH) ZLE#F A t=50m
m ;
LT Z T Y 1 224,100 | Ei%ERRGIMT 1 =
TAT7 W MEREE IR t=15cm ;
ElEERR I A (B T) 20 m2
TAT7VMHEERR D A2t =40cm ;
kI 1 =K
TAT7 VAR
LSy 3 m3
TA77 Vb (HEHD 5
R IE 20 m2
MEMEL ;
g 20 m2
QO AHKRLET 277V MEA Y (20)  t=50mm ;
o [ e 20 m2
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BIEIA-n" -V T = 1 7,066, 638 | BIHEIA-N" -V ( 1, 850 m2
Tembh B (®FRLET 277V MEA ) (BT20FH) &
B t=50mm) ;

s (5 T BT 1 =
TATT VNG

LSy 93 m3
TA77v Mk (BHED)

BIHEIA-N =14 T Y 1 2,537,778 | GIH A" -1/ 665 m2
Tembh B (®FRLET 277V MEA ) (BT20FH) S
B t=50mm) ;

s (5 T BT 1 =K
TAT7 VAR

LSy 33 m3
TA77v Mk (BHED)

TA7 7 MR B T Y 1 1,431,134 | )7yt 100 m
INEAC H M ASF (ERBRAE)

779715 1k y=} 1,058 m
B IARKS W=50cm ;

TA7 7 MR B T Y 1 551,090 |77y KLEE 100 m
INEAC H M ASF (ERBRAE)

779715 1k y=} 380 m
B IAFRS W=50cm ;

X iR T = 1 306, 117

X T = 1 242, 448 | ¥A X R 260 m
WA TFE) B 15em JE1. Smm HEKPEAH L4

NP SRR 530 m
A A KPER 2 15em NEL
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TAT7 W MERZE IR t=15cm ;
ElEERR I (B 1) 20 m2
TAT7VMHEERR D A2t =40cm ;
kI 1 =
TATT VNG
LSy 3 m3
TA77 Vb (HEHD 5
R IE 20 m2
fHEMEL
g 20 m2
Q- AEHLRBLET 277V MEA Y (20) t=50mm ;
W 20 m2
Q- EHLRBLET 277V MEA Y (20) t=50mm ;
eI 20 m2
O©FRLET A7 7V MRS Y (Fr20FH) ZLE#F A t=50m
m ;
BIEIA-n" -V T = 1 7,104, 208 | BIHEIA-N" -V A 2, 050 m2
Tembh F (®FRLET 277V MEA ) (BT20FH) S
B t=50mm) ;
s (5 T BT 1 =
TAT7V AR
LSy 102 m3
TA77v Mk (EHED
TA7 7 MR B T Y 1 1,375,826 |77y ML 100 m
INEAC H M ASF (ERBRAE)
779715 1k y=} 1,168 m
b IAFERS W=50cm ;
X i 5 T 2V 1 186, 122
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FGan Y 1 217, 500
AEEB T Y 1 217,500 | A3iE a5 EEiE 5 1 =
RiBTFHEE A 1 2V
RS 2V 1 9,077, 975
s EeE = 1 2,317, 000
B 2 = 1 282, 000
TR 2V 1 142,000 | a5 HEAR E iR 2y 1 2V
Bl RIEUER (FE L) Y 1 140, 000
Il (it L) Y 1 2, 035, 000
il T Y 1 11, 394, 975
Bl 2V 1 5, 357, 000
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TAT7 VAR
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TA77 Vb (HEHD 5
R IE 20 m2
MEMEL ;
g 20 m2
QO AHKRLET 277V MEA Y (20) t=50mm ;
W 20 m2
QO AHKRLET 277V MEA Y (20) t=50mm ;
eI 20 m2
O©FRLET A7 7V MRS Y (Fr20FH) ZLE#F A t=50m
m ;
BIHEIA-N =V A T Y 1 1, 758,028 | BIHIA-N" =1 A 508 m2
Tembh F (®FRLET 277V MEA ) (BT20FH) S
B t=50mm) ;
s (5 T BT 1 =K
TAT7V AR
LSy 25 m3
TA77v Mk (EHED
TA7 7 MR B T Y 1 373,150 | /7y 5LH 100 m
INEAC H M ASF (ERBRAE)
779715 1k y=} 290 m
b IAFERS W=50cm ;
X T 2V 1 51, 390
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TH4 | R6&RMJIEEHIEEREZ O 2 THF

TEHEXSy - TfE - fER Bz ¥ = & Hm a1l W 7
X T = 1 51,390 |~ A bR i 150 m
A A KR SERR 15em HE
N AR TR 150 m
A AV KPERR FER 15em INEA (B E-JnbT)-
)
FGan Y 1 90, 080
AEEB T Y 1 90, 080 | A2 iM% E (i 5 1 =
RiBTFHEE A 1 =
RS 2V 1 2, 465, 266
Il R Y 1 792, 000
B 2 = 1 191, 000
TR 2V 1 142,000 | 5 BEARE iR 2y 1 2V
Bl RIEUER (FE L) Y 1 49, 000
Il (it L) Y 1 601, 000
il T Y 1 3, 257, 266
Bl 2V 1 1, 663, 000
T =5 Y 1 4,920, 266
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